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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total~pages and total number of questions
contained in the Question Paper are the same as those-printed on the top of the first page. Also
check to see that the questions are in sequential order.

3. For the objective type of questions, you have tochoose any one of the four alternatives given in
the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the answer-book given
to you.

4. All the question including objective .type questions are to be answered within the allotted time
and no separate time limit is fixed for answering objective type questions.

5. Making any identification mark-in the answer-book or writing roll number anywhere other than
the specified places will lead-to‘disqualification of the candidate.

6. Write your Question Paper Code No. SO/HIS/2, Set on the answer-book.

7. (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can

50/H1S/2/211-A || “l"lm

answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in
the answer-book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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e ATAfaT st SRR et saet & |
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MATHEMATICS
iU
(211)
. 1 )
Time : 25 Hours | [ Maximum Marks : 85
1 .
LR :25813%] [ quties : 85
Note: (i) Question Numbers (1-15) are Multiple Choice Questions. Each question carries
one mark. For each question, four alternative choices, (A), (B), (C) and (D) are
provided, of which only one is correct. You have to select the correct alternative
and indicate it in the answer-book provided to you by writing (A), (B), (C) or (D)
as the case may be.
(i1)  Question Numbers (16-25) carry 2 marks each.
(iii)) Question Numbers (26-33) carry 4 marks each.
(iv) Question Numbers (34-36) carry 6 marks each.
(v)  All questions are compulsory.
e ()  ueE gE (1-15) 9% Sgiaswedt w9 (Multiple Choice Question) & | Ui U9 U
3HH T | U U9 § =R fashed (A), (B), (C)-am (D) @@ T3 &, 5= 9 oot th
TE & | TH T forehed g & AT Uekeh U9 o ST’ SO ST-gRs § (A), (B),
(C) 277 (D) STt off ferfer &, feraene s e |
(i) T TE&AT (16-25) Th TS U H 2 3T ¢ |
(iii) 9T AT (26-33) TH UAF WA F 4 3FH & |
(iv) e =T (34-36) T UAF AT 5 6 3FH & |
(v) it ueT fad €
1. Which of the following is not a rational number ? 1
frefefaa & @ o= uiag den 7@ € 2
A) 3 B 2
(A) B) =
72
© @ (D) (2"
3 50/HIS/2/211-A
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T St g€ i §, £ BOD SRR €

C /\A
< x° ] S
T E 0 F
D
\IB
(A) x° (B) (90 +x)°
©) (0-x)° (D) (180-x)°
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1\n
2. If (5) = 81, the value of n is : 1
1\n
aﬁ@ =81, AnHAAE:
(A) -2 B) -1
© 1 D) 2
Monthly expenditure of a family is 60% of the monthly income. If the family saves
% 6,000 per month, the monthly income of the family (in rupees) is : 1
T UNER o A1 &5, W 3113 & 60% € | 37 98 AR 6,000 HTHTE S&d L €,
Al 37 URaR 1 AIEe 1 (393 H) €
(A) 10,000 (B) 12,000
(C) 15,000 (D) 18,000
144 is what percent of 360 ? 1
144, 360 % T fcerd & aXER & 2
(A) 250 (B) 100
(C) 40 (D) 4
In the figure given below, £ BOD-is-equal to : 1
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In a plane, the point equidistant from the vertices of a triangle is called its : 1

(A) Centroid (B) Incentre

(C) Circumcentre

TS st o i S § 3T a6 § 9y 9 FEed |
(A) F5H
(C) U=

(B) 3
(D) <9 %

(D) Orthocentre

In the figure given below, O is the centre of a circle. If £ AOB = 100°, the value of x

1S 2

1

37 g% 3TH 1, O fhdlt ga o 5 fag & 1375 £ AOB = 100°, T x HAF €

(A) 50° (B) ~120°

(©) 130° (D) 150°

2sin A+cosA .
3sinA—2cos A S

If 4 tan A = 3, the value of

2sin A +cos A

?1'&{4tanA=3,Fﬁ3SinA_zcosAEFrtrFf%:
(A) 20 B) 10
15 10
© 3 D) 3
5
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c0s236° + cos254° — 1

9. The value of Sin263° 4 5in227° is 1
c0s236° + c0s254° — 1
63 + sz TS
A) 0 B) 1
<G 2 D) -1
10. The value of sin*A + cos*A + 2sin?A - cos?A is : 1

sin%A + cos*A + 2sin?A - cos?A HTAF T :
(A) —1 (B) 0
© 1 (D) 2

11. In the figure given below, AABC is right angled at B. Which of the following is true ? 1
e <t g€ Thid H, AABC H 0T B GHSHUT € | Fefefad & 9 & 9 & 2

/’ b ff
¢ > a < B
a c
(A) cosec A= c (B) cosec A = N
a b
(C) cosec A= b (D) cosec A = 2

12.  The width of each of five continuous classes in a frequency distribution is 5 and the
lower limit of the lowest (First) class is 10. The upper limit of the highest (last) class
is 1
el TRARAT S | e Tead ot H Uk i IS 5 ¢ a9 T SIS (Ueet) O Hi A=
M1 10 & | G 92 (3iTqH) o 6 ST T

A) 15 (B) 20
(©) 30 (D) 35
50/HIS/2/211-A 6
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13.  Mode of the data, 15, 14, 19, 20, 14, 15, 14, 18, 14, 15, 17, 14, 18 is : 1
gl 15, 14, 19, 20, 14, 15, 14, 18, 14, 15, 17, 14, 18 T SgaT & :
(A) 20 (B) 18
(C) 15 (D) 14

14. Observe the histogram given below. How many students have the height 145 cm and

above ? 1

e ST g STraated St e @ I | R fornfERt o S 145 T A SO et § 2

N
T 1T [~ — -]
E E6 T (—— -]
ER:ZR! ]
7 g
3 /g 4 1
2€5]
1
$&, ]
1 4
130 135 140 145 150 155 160 165 g
Height (in cm) =g (@ ) —>
(A) 15 B) 10
© 23 (D) 11
OR / t¥at

(For Visually Impaired Learners Only)
(haer gt faerar faenforat & fa)

For drawing a frequency polygon of a continuous frequency distribution, we plot the

points whose ordinates are‘the frequencies of the respective classes and abscissa are

respectively :
(A) class mark of the classes (B) lower limits of classes
(C) upper limits of classes (D) upper limits of preceding classes

Tt Taq TRARAT s & o0 IRARAr 9gys a9 & fo1u, 59 o fog emmeifad o &, fSient
FHifeAt T S Sl TR BIl & T 8T AL & -

(A) o & o fae (B) @t ot T A
(C) @t bt SR T (D) o=t ot & FH
7 50/HIS/2/211-A
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15. Median of first 10 prime numbers is : 1
T T 3T WA T ¢
(A) 11 B) 12
© 13 (D) 14
16. Rationalise the denominator of the following : 2
1 % B 1 IREFHIT HIT
A1 =45
V11445
2 5 7
17. Multiply x2+§x+g by x - 2
2 5 7
PH3x+g Pl x — 7§ T HIT |
18. A certain sum of money at simple interest amounts to ¥ 1,300 in 4 years and to
% 1,525 in 7 years. Find the sum of money. 2
I T TR A W 4 3t & T 1,300 761 7 361 H 1,525 & A & | (T 0 B |
19. Dis any point on the base BC of a AABC. If AB > AC, then prove that AB > AD. 2
AABC & 3TeR BC W &g fag D ¥ 1 a§ AB > AC, @t fag #ifsw i AB > AD |
50/HIS/2/211-A 8
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20. PAB is a secant to the circle from a point P outside the circle. PAB passes through the
centre of the circle and PT is a tangent. If PT = 8 cm and OP = 10 cm, find the radius
of the circle. 2

forell g9 & X T {95 P @ PAB 911 1 U% 85 € 31X 98 990 & &5 95 O ¥ &l
S € | PT g1 ot T ¥&1 € | A PT = 8 ¥HI @1 OP = 10 ¥, aF g ol a1 371
HITT |

21. If the length of a chord of a circle is 16 cm and the distance of the chord from the
centre is 6 cm, find the radius of the circle. 2

I T g I T Se ) a1 16 HHl TAT T ST 1 65 d g4 6 Gl &, A g bl o1
1A HIT |

22. Find the coordinates of the point on x—axis equidistant from the points (2, 5) and
G, 4. 2

x-377 TR 39 g o MGk T ShiteTe STt forgat (2, 5) a1 (3, 4) § T g Wt |

23. Find the perimeter and area of the sector of a circle of radius 9 cm with central angle
35°. 2

9 QT Brw Aot g9 & 39 HSuEE 1 uRE 3R ST AT HITT [ HST BT 359
T

24. Find the area of a rhombus whose'side is of the length 5 m and one of its diagonals is
of length 8 m. 2

Tk UH THES o1 Sl 3 HITTT ST 9T &l a1 5 HieX a7 Ueh faehul o et
8 HiZT ¥ |

25. Prove that : 2
fﬂ@'q—; Slelce

1—-cos A

[+ cos A = (cosec A —cot A)?

9 50/HIS/2/211-A
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26. Three years ago Atul’s age was four times Parul’s age. After 5 years from now, Atul’s
age will be twice Parul’s age. Find their present ages. 4

qM a9 gd, 3Tqel Hi 3T UIEe Sl 3T & IR T o | 3T & 5 I U9aTd 3Tqet il 37y
T T AT T AT G | 3T 1R IRt ot adqH 3T J1d HifTT |

27. Find the 50" term and sum of first 50 terms of the A.P 11,16, 21, 26, ..... 4

FHAC Fel 11, 16, 21,26, v T 508 Ug TS UH 50 UST T AT 0 HifeT |

28. A cooler is available for ¥ 3,400 cash or ¥ 2,000 as cash down payment followed by
five equal monthly instalments. If the rate of interest charged under the instalment
plan is 30% per annum, find the amount of each instalment. 4

T Fo T 3,400 7S STAM ST T 2,000 T SPTAM 3T 3Hb A1 4T G A fohe
T 3Tty § | IS TE TR AT & 3T 9T ST ofed ST &bl &< 30% ooeh &, af Tedieh
ot o T3U ST aredt TRT =t 7o e |

29. Prove that the parallelograms on equal (or same) bases and between the same parallels
are equal in area. 4

g T foF T9M STTER (A1 T & 3MER) 317 S FHwR @13t & aie o= qaioR aqyst
&%l § qHH Bl € |

30. ABC is a triangle right angled at C. If CD, the length of perpendicular from C on AB

1 1 1
is p, BC=a,AC=bandAB=c,thenprovethat?=;+§.

ABC t& st & 518" £ C = 90° 13fg D, ‘eﬁﬂ‘c@AB TR STt T el i TS p & q°

BC=a, AC = b 3% AB = ¢ 7, 7 forgy wifore 5 -5 ok 2+b12

50/HIS/2/211-A 10
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An observer standing 40 m away from a building observes that the angle of elevation
of the top and bottom of a flagstaff, which is surmounted on the building are 60° and
45° respectively. Find the height of the building and the length of the flagstaff.

(3 =1.732) 4

T eTeh fohdt wa | 40 HieX H g W Gl B I @dl § [ U $S o, Il 16 9o
T g &, I U UIg fegett o I1EA B0 HH: 60° TH 45° § | o H SHaTE 3N T
i g T BT | (/3 = 1.732)

If the mean of the following data is 17.45, find the value of P. 4
Iie (57 SAThel o 71T 17.45 &, aF P 60 51 3 iy |

X |15 (16 |17 |18 |19 |20

1

F. |3 8 10 | P 5 4

A pair of dice is thrown once. Find the probability of getting 4
(i) same number on both dice

(i1) sum of the numbers appearing on dice as'9.

T UTHT BT Ueh WY Ueh X el ST € | 99, 31 W1 Sht ol TIfeehel ST ShifeTy
(i) I U W U & G
(i) ST TG O YT HEATS T AT 9

34
Check whether the roots of the quadratic equation =15 (x #0, 1) are

real or not. If yes, find the roots. 6

it o o e et = L3 (1) e et # o
g &, df ot A BT |

11 50/HIS/2/211-A

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

35. Construct a triangle ABC in which AB + BC + CA = 9.5 cm, £ ABC = 60° and
Z ACB =45°, 6

TF BT ABC &l T it ™98 AB + BC + CA = 9.5 ¥Hl, ZABC = 60° @I
£ ACB =45°

OR / 3¥at
(For Visually Impaired Learners Only)
(Fhaer gt faereri faenformt & fa)

Write the steps of construction to construct a triangle ABC in which AB = 6 cm,
BC =4 cm and median CD = 3.5 cm.

TH TF PRSI ABC &1 W01 & fog T & o5 feifa ™99 AB = 6 941, BC = 4 ¥t 3R
et CD = 3.5 941 |

36. The diameter of a solid hemisphere is 42 cm. Find its volume, curved surface area

and total surface area. 6
T G ST 1 A 42 T & | 3T 3Tl T ST, 5k TRIT &19%eT U6 Hel Jod
FHET 1 DT |
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